PHOTOSYNTHESIS CONCEPT MAP

Photosynthesis

Answer Key

Chemical Equation

6C0,+6HO T CH, 05 + 60,

Light-Dependent
Reactions

Light needed

Main Idea

Light is needed to
split water for energy.

Details

- Takes place in thylakoids
« ATP and H+ created

for next reactions
« Oxygen released

Organelle
Chloroplast

Light-Independent
Reactions

Mo Light

Main Idea

Carbon dioxide becomes
stored food energy.

Details

» Takes place in stroma

+ Calvin Cycle

» Does not need light

- Carbohydrates for
growth and storage

v

Summary \

~

Photosynthesis is a two-part process
that enables plants to transform solar
energy into food energy that fuels
cellular metabolism.

The first reactions need light to split the
water molecules. Oxygen is released,

and the ATP and hydrogen ions are used
as an energy source for the Calvin Cycle.

The Calvin Cycle reactions take carbon
dioxide molecules and the energy from
hydrogen to create simple sugars.

The sugars are used to make plant
tissues and provide fuel for plants and
other organisms.

Photosynthesis keeps our planet alive!
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